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Syllabus ref: 2.3 HL Syllabus Item 97 Calculation of Inflation 
 
 
 
            
  
 
 
 
 

 
 
 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
Note: 
 
You will be asked to calculate the weighted or composite price 
index so you have to multiply the prices given by the weight. Two 
IBO examples below will help you to understand how the 
weighting influences how a basket of goods is calculated. 

What is inflation? 
Inflation is a consistent rise in the average price level (basket in Germany 
= 700 goods and services) and the increases in prices are sustained over 
time. It measures average changes in price level: 
 
Visit www.destatis.de  to learn about how the Bundesamt for Statistics 
measures inflation in Germany.  
 

Box 1: Price Level: how is inflation measured? 
! To express any number as an index  or a % of another number do 

the following: 
 

                                   
1 )      new price (basket)         

                                                                   X 100      
 
2 ) base year (original/price basket) 

 

       Webnote 233 (HL) 
 
                 Syllabus: 97 

How to calculate inflation rate? 
 
1. Find the base period. This is =100 i.e. 

the index for the basket in the base year 
2. Find the value of the basket. If given 

weights (composite price index) then 
multiply each good by the weight and 
add up the cost of the basket 

3. You have just calculated a 
composite/weighted price index 

4. Income is weighted according to how 
much of the good is bought or % of 
income spend on the good = composite 
price index 

5. Be careful to answer the question. Are 
you asked to calculate the new index or 
find the inflation rate durin the period. 
Study examples below from 2015 
November and 2016November to 
understand this. 

 

Problems measuring inflation 
rate in an economy: 
1. basket measures ‘average 

household’ 
2. ‘errors’ in data collection e.g. use 

of samples (cannot measure all 
products on the market) 

3. ‘quality’ changes may not be taken 
into account 

4. ‘volatility’ in some sectors eg oil – 
prices change twice daily + spikes 

5. cpi is one view of inflation but there 
are other indices e.g. ppi 

see Blink pp 213-214 

Big Question: How is 
inflation calculated? 

Example: 
If  basket price increases from 70 
(base year price) to 77 use the 
formula opposite to calculate the % 
change. In this case it is  77/70*100 = 
110. The index then increases from 
100  to 110. Inflation has increased by 
10%. See IBO examples below. 
You are asked to use weights but 
these will be given to you 
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Inflation Calculation November 2015 
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Answer Inflation Calculation November 2015 
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Inflation Calculation November 2016 
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Answer Inflation Calculation November 2016 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

See HL 3 2016 Q3 for example. See sample answer below. In this case you are  multiplying the price by the weight to get the 
price index. Then divide the new by the old and multiply by 100 to get the index i.e. 104.34 
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See German inflation indices below: Index numbers are calculated 
for each of the categories of good in the basket of goods used to 
calculate the inflation index. 
 

 


